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GENERAL INSTRUCTION TO THE EXAMINEES:
1. greTeff AdvRM 3Ue U U W AMIG JifHaria: ford |

Candidate must write first his/her Roll No. on the question paper compulsorily.

2. ) UgT Hee A 2|

All the questions are compulasory.

3. AP U BT IR &l g IR gRA®T H 8 ford |

Write the answer to each question in the given answer book only.
4. TS gl # 3f<IR® WUs 8 I ¥l & IR b A1 &1 ford |
For questions having more than one part the answers to those parts are to be

written together in continuity.
5. U U3 & f2) WR ISl SURRYr # fdl geR @ e/ R/ fRem 8 R =i
AT & U Bl el A |

If there i1s any error/difference/contradiction in Hindi & English version of the
question paper, the question of the Hindi version should be treated valid.
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SECTION-(A)

1. Fgiadedt w1

Multiple Choice Question-

(i) vew oo g fofed &% @- 1

(1) T TALA LA AF TEATTHE, Tradee U HAT|

(F) THEMHF FHEHEsl Ak T 79

() TF THNT T § 99¢ US FSA A% g I % A9 |

(T) I g

The book written by Adam Smith is -

a) The general theory of Employment, Interest and Money.

b) Economic Consequences of the Peace.

c) An Inquiry into the Nature and cause of the wealth of Nation.
d) All of the above.

(i) ¥ ITTEF AT AR & =7 H 59 a=q &1 ST Fd gl 98 FgATdr

& 1
(1) STARRT TG (@) ISR 7=y

() Aegadl aequ @ o=

The goods used by other producers as input is called......................

a) Consumer goods (b) Capital goods

c) Inter/mediate good d) other goods

(iii) smT § wfa THTe IREAd F FEEaEd IURT § qREdd Fwgdrdr 8- 1
(=1 HHTT ITART TFR () HwT T=a v |

() SE\d STANT JF (T) SH|q s=q vaqi |

The change in consumption as a result of per unit change in income is known as-
a) Marginal Propensity to consume

b) Marginal Propensity to save

c) Average Propensity to consume

d) Average Propensity to save

(iv) At RS §% & e T oau ge- 1
(=) 1930 () 1935

() 1945 () 1950

In which year was Reserve Bank of India established-

a) 1930 (b) 1935

c) 1945 d) 1950



(v) AT w2 # g |7 HEeT STHNT TR F oo, Bl 2 | 1

(=) @ If= (@) v (3) SWRE H ¥ FT AGT

With the rise in propotional taxes there will be.......................... in Marginal Propensity to
consume.

a) Decrease b) Increase c) Stable d) None of the above
(vi) i & | AT AT FT TeF ARl - 1
(37) TEqA H AR (F) FATAT H ATIR

() AL qIATT (=) Ta=eft ==

Which of the following is not an element of Current deficite...............c..........

a) Trade in Goods b) Trade in services

c) Transfer Payment d) External Borrowings

(vii) TRTS srfamer ® A9 &7 stemEw el AT STar 8- 1
(37) ARG T @) T fAra

(q) T TSR (F) Y FHq

Which of the following is not studied in Macro Economics..............cccccevveennnn.
a)Individual Units b) Opportunity cost

c)Total Employment d) General Price level

(viii) T FEG AT ATIF AT T wA & O T FEQ AT T AT SEAr T25dl gl

TH FEd - 1
(37) HTHTS® AW (@) FFET AN

() T AW (T) HITesw AW

The loss of one good to acquire more quantity of other good is called-

a) social cost b) opportunity cost

c) Direct cost d) Monetary cost

(iX) I T@T FT A gral 2- 1
(37) RUITCHE & () eATHF B

() @Fadq T (T) afas &1

The slope of budget line is-

a) Negative Slope b) Positive slope

c¢) Horizontal d) Vertical

(x) T\ F gTAwA FT GET B- 1
(1) AT oThTaT | (F) TR T

() oAfd STt () EHFAT A

Returns to scale is related to-

a) Very short Period b) short Period

c) Very Long Period d) Long Period



(xi) e # ¥ o a0 9% F A AR Afdaeadd gram @- 1

(31) drEq g ava a® (F) FAT AW TH

() s aREaaefia ana 9% (F) AT AT aH

Which of the following curve in rectangular hyperbolic in shape-

a) Average Fixed cost curve b) Total cost Curve

c) Average Variable cost curve d) Marginal cost curve

(xii) o areme sv==r § a1 fahar 2§ 39 FEd @- 1
(1) THTTEFTE (&) qor gfaarar

() gaTeRTT ST (x) sreurteerTe gfaariRar

Which of the following market has two sellers...................

a) Monopoly b) Perfect competition

c) Duopoly d) Oligopoly

2. °=F ==

Fill in the blanks

(i) ag =ARF A7 HEIT0 AT arfds AT &d B, FgdATd Bl 1
Those individuals or institutions which take economic decisions are called..............
(ii) TR T e F ISR 2 1
Television is an example of.................... goods.

(1) B AT I ITART o Heel fil ATEAT FLAT Bl 1

....................... explains the relationship between income and Consumption.
(iv) T d9g e &t qR T97 ATl H BT @ S,

F2d 2 1
...................... budget is the related to Government Assets and Liabilities.

(v) St =TeT grar g ar e aF et i a=ar 8 26 T wer
STaT gl 1

When there is Budget deficit Reserve Bank sells Yorign exchange, it is known

(vi) ITARRT AT T H Fhg g & ArF-arT §9 w@0T aeq i " He.
IR 1

There IS .oooiiiiieiiiiiiieeeees in the demand of Inferior goods with the increase in
consumer's income.

3. % wIi F 3= 10-20 ar=ai # AU -

Answer the following in 10-20 words-

(i)  gStraTer sefeEedar it uE faewar e 1
Write one feature of Capitalist economy.

(i) T\ Fd=gaedTr & P ¥ A TG &= & a9 o) 1
Write name of four sectors of Macro economics.

(i) aTeMT FHAT T gE AT A8 NDPyp 1T A &1 g fofe | 1

Write the formula to find Net Domestic Product at market price NDPyp.



(iv) YT Y= &7 7o forfe 1

Write meaning of Repo rate?

(v) H&T Ifd F W@ ged wb-wa 9 g ferfeen 1
Write the names of main elements of My Money supply?

(vi) T Faer Fw @ W@IEE aqrsd| 1
Draw a diagram of Autonomous Investment Curve?

(vii) TTETT Fole FT FE UH IgeT forfea| 1
Write an objective of government budget..

(vii)y AOT & q= A g e | 1
Write formula of elasticity of demand.

(ix) HET FEg " F7 Aty gl e 1
What do you by Normal Good. Write/Define

(X)  SACURITT E|d Il AN a5 T 61T HAT grar gl 1

What is the shape of Short Run Average Variable Cost curve?

(xi)  ETEeTeNT HHT ARG deb, SrHaed |q anq deb &l e faeg 9% &redr

2l 1
At which point does the Long term Marginal Cost curve intersects long Average
cost Curve?

(xii)  TCTHRTAA HET AT Bold & T FFa 9 F 1 JE1 Sq1ar 2l 1

By what other name is Short run Average cost function also known as?

gus ()
SECTION-(B)

e oot F 3TY 30-40 9rs=r H ST

Answer the following in 30-40 words

(4) Feferfea srrst v aafes SorST A fi TuET Fiforu- 2
(3N) FTH AN T F9 =L IS QOOOW

(@) faeat & wtg Few o 200 HRTS

(@) srfaata «rd 800 TRIS

@) A & 550 BRIS

(T) TRET g AT &S 1500 HRIS

}) wfETT g EEE AT T 1100 HRIS

(@) AT AT 300 TS

() Fafew = 400 TS

From the following data calculate Personal Income and Personal Disposable Income-
a) Net Domestic Product at factor cost 9000

b) Net Factor Income from abroad 200

c) Undistributed profit 800

d) Corporate Tax 550




e) Interest recieved by household 1500
f) Interest Paid by household 1100
g) Transfer Income 300
h) Personal Tax 400

(5) {ET U 3T AFE FHUTITT H Hael F Tdh IA@0 gRI TTE Al 2
Explain with an example the relation between money multiplier and cash Reserve
Ratio ?

(6) Ta=ataar & BRraTTe #1 a9y 2
Explain Paradox of Thrift?
(7) Tt 7 o @ @ uw-us o o 1+1=2

Write an advantage of floating Exchange Rate and Fired Exchange Rate.

(8) FHT=A IUART yaT FoF Fgd g. Tg FoF Te S\ T9q Y9 ¥ "@&6fad g
foran 1+1=2
What is Marginal Propensity to consume? How is it related to Marginal Propensity to
save?

(9) @Sfe HTeT X FA & &le al g el 1+1=2
Suggest two measures to correct deficiet in budgets.
(10) TFETCHE TAT TEercAs Fgue § qe 93 #47 g o 1+1=2

Distinguish between Positive economic analyses and Normative economic
analyses (any one).

(1) wivr & A i afearo foalad 2
Write definition of Law of Demand.

(12) fga=e i1 a7 Frald THETE o) 1+1=2
Write any two problems of an economy.

(13) ITET FeA= FT Abeuq1 gl fore | 2
What is the concept of Production Function?

(14) S=e=aT ®§ gig o gl 9 R R®1 991G g, FHE | 1+1=2

Explain briefly the impact of increasing population on supply curve.

(15) 3q Rafa & #Hiwrwa, dufta 9% F smww o fooft fifvw, Sd o gafa a%
ATCHE TATAT ATAT T ¥@T 2T 2
Comment on the shape of MR in case the TR Curve is a positively Slope line?

(16) Meferfga arfersdT ® U ITaeqdt ®H Hl T qErq doil w0 9qidT T3T gl a6
AT 10 ® &7 T g TAF IR FT@L UL AT AT TOET FHIOU ATH-

AfERaH TR AeTq &% Si1a it 2
SIC] S AN (TPIR) .
0 15
1 25
2 32
3 37
4 41




48
59
73
91
111
133

—
o|©||NO|O

The following table shows the total cost schedule of a competetive form. It is given that
the price of the good is Rs 10. Calculate the profit at each output level. Find the profit
maximing level.

Output T.C. (Rs.)
15
25
32
37
41
48
59
73
91
111
133
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SECTION-(C)
% woIi % SR 60—80 el H Fforu-
Answer the following in 60-80 words
(17)Faea 9 A H aT T8 Ao 1Yo+114=3
Differentiate between Depreciation and Devaluation?

(18) " w= @@ g & C=70+0.70xD,I=90 G=100, T=Q.IQY(a) I=qa= T S B |
AT A W B ISEd FAT gl FAT LR FHT Foie Ggfold doic gl

172+172=3
We suppose that C=70+0.70(Y), 1=90, G=100, T=0.10y
a) Find the equilibrium income.
b) What are tax revenue at equilibrium income? Does the government has a balanced
budget?

(19) T ®H @l d\d U @FE, sfiEd q9Radi @nd a9 $iEd ana &1 g, 9 &g
THRE Hatad gl 1V4+114=3
What are the average fixed cost, average Variable cost and average cast of a firm?
How they are related.



(20) wIr # FHT H qREAd, =T A AIAT Dl H FE TR TATET BT TH

ARG T TeqaAd {7 9T TATT & AT GHATRT | 1Ya+1V5=3
How will change in price of coffee affect the equilibrium price of tea? Explain the effect
on equilibrium quantity also through a diagram

gueg ()
SECTION-(D)
= o= % I 100-150 ersafi # =Aforu-

Answer the following in 100-150 words.

(21) AT Rorg dF A Hifew A F ST wr o afeeare e 4
What are the instrument of monetary policy of RBI?

31qdr

or

AT & &1 TF il

Explain the functions of Money'.

(22) SATEATT a il TRATIT F IThl Fuare @eare [@d quarsdl (el 39T
FERECNEE R IRCCID! 4

Define Indifference Curve and explain the features of Indifference Curve. (Draw diagram
where necessary.

ERCH

(OR)
FATIHTT ah AT I HEEAT | ITAHT T TLIH T4 A T DI
Explain Optimal Choice of consumer with the help of Indifference Curve.

(23) UF T gfqeqelf aeme # AE-w " Feware et S g1 G e #l)
4

Describe in detail the features of Perfect Competition.
ERCH
(OR)
07 ITAeTe aTSe | ATH SATeshae im0 sl Fafq @r== &l ggraar § aaAed|

Explain profit maximization with in Perfect Competition. With the help of diagram.




